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Detailed Estimate for Restoration/Motorable of Road damaged during Flood'2020

GENERAL ABSTRACT OF COST
HEAD FDR DIVISION  JAYNAGAR
YEAR 19-20 BLOCK Jaynagar |
NAME OF ROAD :  Jaynagar to korahia ]
UNDER CONSTRCTION l
UNDER MAINTENANCE/ OUT OF
" MAINTENANCE »
Damage length : 2103. 5 00
. ’ 1|‘
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[ Description Unit Quantity ’ (Ra:' ; : Igg_l)nt |
~ |Providing and filling brick bats in ditches including cost of ot Q17:68) 1637297 p{
i brick bats and labour all complete job as per specification and Cum H4513( 1867.76 213883400 {
~ |direction of E/I. - .
HES P72 |
- Total = 213883460
AddGST @ 12% | 1757445876 |
_ | e Add L.Cess @ 1% | 1637350558601
Add Seignorage Fee 451373 x Rs. 1063.00]  x 10.0%]9 %239 A2¥28.00
_ ' Grand Total = 2538610
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Detailed Estimate for Restoration/Motorable of Road damaged
during Flood'2020
HEAD FDR
NAME OF ROAD :  Jaynagar to korahia
LENGTH OF ROAD 11.60 kM
BLOCK : Jaynagar DIVISION:  JAYNAGAR
Damage length : 2103.50 CIRCLE : DARBHANGA
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